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COORDINATE GEOMETRY

1. Find the distance between the points (2, 3)

and (4, 1).

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_oCLcuATeqU7d

2. Find the coordinates of the point which
divides the join of (-1,7) and (4,-3) in the ratio

2:3.

o Watch Video Solution

Objective Type Questions 1 Mark Multiple Choice

Questions



https://dl.doubtnut.com/l/_oCLcuATeqU7d
https://dl.doubtnut.com/l/_mPTxoBW3Tvyf

1. The point on the x-axis which is equidistant

from (-4,0) and (10,0) is

A. (7,0)

B. (5,0)

C. (0,0)

D. (3,0)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_aqiacQBWadow
https://dl.doubtnut.com/l/_CCkPVzK3wciq

2. The centre of a circle whose end points of a

diameter are ( — 6, 3) and (6, 4) is

A. (8,1)

B. (4,7)
7
< (5.2)
7
o (1.2)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_CCkPVzK3wciq

3. The distance between the points (m,-n) and

(-m,n) is

A. \/m2 + n?

B.m +n

C. 2\/m2 + n?

D. \/ 2m? + 2n’

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_1YmDwx2PcdaW
https://dl.doubtnut.com/l/_K2Dv42teiemH

4. The point which divides the line segment
joining the points (7,-6) and (3,4) in ratio 1:2

internally lies in the

A. | quadrant
B. Il quadrant
C. lll quadrant

D. IV quadrant

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_K2Dv42teiemH
https://dl.doubtnut.com/l/_jXHt9QHQKn55

5. The distance between the points

(acosf + bsin6, 0) and (0, asiné — bcos H).

A a? + b
B.a’ — b°
C.va® + b
D. /a® — b

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_jXHt9QHQKn55

6. The point which lies on the perpendicular
bisector of the line
segment joining the points A(-2,-5) and B (2,5)
is

A. (0,0)

B. (0,-1)

Answer: A

I o Wiak hh \AAaA CAaliikianm



https://dl.doubtnut.com/l/_tfQcPiY3Yevq

VVCILLIL VI INAGINIE L J

7.The fourth vertex D of a parallelogram ABCD

whose three vertices are A (-2,3), B (6,7) and C

(8,3) is

A. (0,)

B. (0,-1)

C. (-1,0)

D. (1,0)

Answer: B

| s |


https://dl.doubtnut.com/l/_tfQcPiY3Yevq
https://dl.doubtnut.com/l/_1naX98vNB3Xr

| @ Watch Video Solution ]

8. If the point p(k,0) , divides the line segment
joining the points A(2,-2) and B(-7,4) in the

ratio 1:2 ,then the value of k is

Al

B.2

Answer: D



https://dl.doubtnut.com/l/_1naX98vNB3Xr
https://dl.doubtnut.com/l/_aM8qMWdqMYPa

\ ° Watch Video Solution

9. The distance of the point P (-3,-4) form the x-

axis (in units ) is

A3

C.4

D.5

Answer: C

l o Watch Video Solution


https://dl.doubtnut.com/l/_aM8qMWdqMYPa
https://dl.doubtnut.com/l/_MBkHOmCpdKKB

10. If the point P(2, 1) lies on the line segment

joining points A(4, 2) and B(8, 4), then:

1
A AP = EAB
B. AP PB
1
C.PB = §AB
1
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_MBkHOmCpdKKB
https://dl.doubtnut.com/l/_IUTG6O0Rzdbl

M If A(%, 5) is the mid-point of the line

segment joining the points Q (- 6,7) and R ( -

2, 3), then the value of mis

A —12

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_IUTG6O0Rzdbl
https://dl.doubtnut.com/l/_m6ijENMCXHIa

12. The perimeter of a triangle with vertices
(0,4), (0,0) and (3, 0)is"

A. 5 units

B. 11 units

C. 12 units

D. (7 + /5) units

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_m6ijENMCXHIa
https://dl.doubtnut.com/l/_RLELGnpbxRDd

13. IfP(%, 4) is the mid the point of the line

segment joining the points Q(-6,5) and R(-2,3),

then the value of a is

B. —12

C.12

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lHl5XmFx3uNZ

14. The perpendicular bisector of the line

segment joining the points A(1,5) and B(4,6)

cuts the Y-axis at

A. (0,13)

B. (0,-13)

C.(0,12)

D. (13,0)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_1bVcYNCOMQTl

15. The coordinates of the point which is

equidistant from "the three vertices of the

AN\ AOB: is:

> =

(0, 2y)|A

X' 2 X
(2x,0)

<2


https://dl.doubtnut.com/l/_cwqr53QHJDe6

Answer: A

° Watch Video Solution

16. If a circle drawn with origin as the centre

13

passes through (7,0), then the point

which does not lie in the interior of the circle

(3


https://dl.doubtnut.com/l/_cwqr53QHJDe6
https://dl.doubtnut.com/l/_dwwk4aF9Aj75

Answer: D

o Watch Video Solution

Objective Type Questions 1 Mark Fill In The

HHENLS



https://dl.doubtnut.com/l/_dwwk4aF9Aj75

1. AOBC is a rectangle whose three ertices are
A(0,-3),0(0,0) and B(4,0). The length of its

diagonal is

o Watch Video Solution

2. The centroid of the triangle whose vertices

are (4,-8),(-9,7) and (8,13) is

° Watch Video Solution



https://dl.doubtnut.com/l/_Tu1dx3FHM5Xg
https://dl.doubtnut.com/l/_Z3rCLeahBxHl

3. The ratio in which x-axis divides the line

segment joining the point (2, 3) and (4,-8) is

° Watch Video Solution

4. The mid-point of the line segment AB is
(4,0). If the co-ordinates of point A is (3,-2),

then coordinates of point B is

° Watch Video Solution



https://dl.doubtnut.com/l/_3js2w72u3vf3
https://dl.doubtnut.com/l/_iDX1wIcTCkIc

5. Distance of a point (-24, 7) from the origin

(in units) is

o Watch Video Solution

6. If P(—1,1) is the midpoint of the line
segment joining A( — 3,b) and B(1,b + 4)

thenb=7?

o Watch Video Solution



https://dl.doubtnut.com/l/_Pp5kREll02GZ
https://dl.doubtnut.com/l/_21F1hWu23N7K

Objective Type Questions 1 Mark Write True Or

False

1. A ABC with vertices A(0-2,0),B(2,0) and
C(0,2) is similar to /A DEF with vertices

D(-4,0) ,E(4,0) and F(0,4).

o Watch Video Solution

2. The point P(-4,2) lies on the line segment

joining the points A(-4,6) and B (-4,-6).

o Watch Video Solution



https://dl.doubtnut.com/l/_vAYVnqddzy2N
https://dl.doubtnut.com/l/_aXlLtsoBGgqP

3. Prove that the points A(4,3), B(6,4), C(5,-6)

and D(-3,5) are vertices of a parallelogram.

o Watch Video Solution

4.The point P (5,-3) is one of the two points of
trisection of line segment joining the points

A(7,-2) and B(1,-5).

o Watch Video Solution



https://dl.doubtnut.com/l/_aXlLtsoBGgqP
https://dl.doubtnut.com/l/_efNvgWqr1Arx
https://dl.doubtnut.com/l/_SMJMh4FinqMv
https://dl.doubtnut.com/l/_LbROnKITcEHz

5.The points P (-2,4) lies on a circle of radius 6

and centre (3,5).

o Watch Video Solution

6. The points A (-1,-2), B (4,3) ,C (2,5) and D (-3,0)

in that order form a rectangle.

o Watch Video Solution

Objective Type Questions 1 Mark Very Short

Answer Type Questions



https://dl.doubtnut.com/l/_LbROnKITcEHz
https://dl.doubtnut.com/l/_uxYM7s47G8Yi

1. Find the distance of point P(xy) from the

origin

o Watch Video Solution

2. The coordinate of a point A, where AB is the
diameter of a circle whose center is (2, -3) and

B (1,4) are:

o Watch Video Solution



https://dl.doubtnut.com/l/_cJMTkoaBukxD
https://dl.doubtnut.com/l/_dU5xnqwwtZW2

3. Find the distance between the points (a,b)

and ( —a, —b).

o Watch Video Solution

Short Answer Sa | Type Questions 2 Marks

1. Find the value of a so that the point (3,a) lies

on the line represented by 2x-3y=5

° Watch Video Solution



https://dl.doubtnut.com/l/_WqhssE35zKpn
https://dl.doubtnut.com/l/_MNToB3LZ34x1
https://dl.doubtnut.com/l/_Q4vHnGOUXzJL

2. The mid-point of the line segment joining
A(2a, 4) and B(-2, 3b) is (1, 2a +1). Find the value

of a and b.

° Watch Video Solution

3. Determine the ratio in which the liney-x +
2 = 0 divides the line segment joining the

points (3, -1) and (8, 9).

° Watch Video Solution



https://dl.doubtnut.com/l/_Q4vHnGOUXzJL
https://dl.doubtnut.com/l/_vhk5DSl3UweW
https://dl.doubtnut.com/l/_qqyS9vJ2Qp9Y

4. If two vertices of a parallelogram are
(3, 2), (— 1, 0) and the diagonals cut at
(2, —5) , find the other vertices of the

parallelogram.

o Watch Video Solution

5.1n what ratio does the point ( — 4, 6) divide
the line segment joining the points

A(—6, 10) and B(3, —38)?

o Watch Video Solution



https://dl.doubtnut.com/l/_qqyS9vJ2Qp9Y
https://dl.doubtnut.com/l/_3rsePozqIakt
https://dl.doubtnut.com/l/_5HRHfgbmTEoU

6. Find the ratio in which the point ( — 3, p)
divides the line segment joining the points
(=5, —4) and ( — 2, 3) . Hence, find the

value of p.

° Watch Video Solution

7. A line intersects the y-axis and x-axis at the
points P and Q respectively. If (2,-5) is the mid-

point of PQ then find the coordinates of P and

0.

| €8 |


https://dl.doubtnut.com/l/_5HRHfgbmTEoU
https://dl.doubtnut.com/l/_5dImncB4tghB

| ¥ Watch Video Solution J

8. If the distances of P(x, y) from A(5,1) and (-1,5)

are equal, then prove that 3x = 2y.

° Watch Video Solution

9. The coordinates of P and Q are (-3, 4) and (2,
1), respectively. If PQ is extended to R such that
PR = 2Q) R, then what are the coordinates of

R?

o Watch Video Solution



https://dl.doubtnut.com/l/_5dImncB4tghB
https://dl.doubtnut.com/l/_JqGL3YQEDbYQ
https://dl.doubtnut.com/l/_KEerx0qVfI6s

10. The points A(4, 7), B(p, 3) and C(7, 3) are the
vertices of a right triangle, right-angled at B.

Find the value of p.

o Watch Video Solution

11. The Class X students of a secondary school
in  Krishinagar have been allotted a
rectangular plot of land for their gardening

activity. Sapling of Gulmohar are planted on


https://dl.doubtnut.com/l/_KEerx0qVfI6s
https://dl.doubtnut.com/l/_icfawxAMVfpS
https://dl.doubtnut.com/l/_io4yH5Dj90Ix

the boundary at a distance of Im from each

other. There is a triangular gr

° Watch Video Solution

12. Find the area of a quadrilateral ABCD
having vertices at A(l, 2), B(1, 0), C(4,0) and

D(4,4).

° Watch Video Solution



https://dl.doubtnut.com/l/_io4yH5Dj90Ix
https://dl.doubtnut.com/l/_mkq76IRJrfgb

13. If thepoint C( — 1, 2) divides internally the
line segment joining A(2,5) and B in the

ration 3: 4. Find the coordinates of B.

o Watch Video Solution

Short Answer Sa li Type Questions 3 Marks

1. Prove that the points (2,-2), (-2, 1) and (5, 2)
are the vertices of a right angled triangle. Also

find the area of this triangle.

| e |


https://dl.doubtnut.com/l/_VVSu8sO2s8qd
https://dl.doubtnut.com/l/_oAQ0o1AmCgVM

& Wwatch Video Solution I

2.Find the ratio in which the y-axis divides the
line segment joining the points (5, — 6) and
(—1, —4).Also,find the coordinates of the

point of division.

o Watch Video Solution

3. The x-coordinate of a point P is twice its y-

coordinate. If P is equidistant from


https://dl.doubtnut.com/l/_oAQ0o1AmCgVM
https://dl.doubtnut.com/l/_E8AKDQSlmFI2
https://dl.doubtnut.com/l/_Z8tuYcvLElUp

Q(2, — 5)andR( — 3,6), then find the

coordinates of P.

° Watch Video Solution

4.If the distance between the points (4, k) and

(1, 0) is 5, what can be the possible values of k

?

° Watch Video Solution



https://dl.doubtnut.com/l/_Z8tuYcvLElUp
https://dl.doubtnut.com/l/_hJhc4FvHcN0B

5.. Let P and Q be the points of trisection of
the line segment joining the points A(2, -2)
and B(-7, 4) such that P is nearer to A. Find the

coordinates of P and Q.

° Watch Video Solution

6. Find the co-ordinates of the point of
bisection of the line segment joining the

points (9, -3) and (9,7).

° Watch Video Solution



https://dl.doubtnut.com/l/_wEtXED1jBI5a
https://dl.doubtnut.com/l/_DCRWp7NJM3Lb

7. Find the points on the X-axis which are at
distance of 2,/5 from the point (7,4) . How

many such points are there ?

° Watch Video Solution

8. What type of quadrilateral do the points
A(2, —2),B(7,3),C(11, — 1) and D(6, — 6)

taken in that order form?

° Watch Video Solution



https://dl.doubtnut.com/l/_DCRWp7NJM3Lb
https://dl.doubtnut.com/l/_w3Wmrf5G0NgV
https://dl.doubtnut.com/l/_5f5DoOxjOMBx

9. Point P divides the line segment joining the
points A(2,1) and B(5, —8) such that
AP ! If Pli the line 2 + k =0
— = —. | n ine 2x - =0,
1B 3 es o e line y

find the value of k.

o Watch Video Solution

10. Find a point which is equidistant from the
points A(-5,4) and B (-1,6). How many such

points are there ?

o Watch Video Solution



https://dl.doubtnut.com/l/_tH0OulFVo2Lq
https://dl.doubtnut.com/l/_Obvk2F1JOJTT

11. In what ratio does the point P(-4, y) divide
the line segment joining the points A(-6, 10)

and B(3,-8)? Find the value of y.

o Watch Video Solution

12. Find the coordinates of the point of
intersection of x - 3y = 0 and the line segment

joining the points (- 2,-5) and (6, 3).

o Watch Video Solution



https://dl.doubtnut.com/l/_Obvk2F1JOJTT
https://dl.doubtnut.com/l/_aqjd6OnDcHYB
https://dl.doubtnut.com/l/_h29I2OgdaIud

13. Find the coordinates of the point Q on the
X- axis which lies on the perpendicular
bisector of the line segment joining the points
A (-5,-2) and B (4,-2). Name the type of triangle

formed by the points Q , A and B.

o Watch Video Solution

14. Find the point on y-axis which is

equidistant from the points (5,-2) and (- 3, 2).

o Watch Video Solution



https://dl.doubtnut.com/l/_UCp5dLWyip9f
https://dl.doubtnut.com/l/_YZLNT2k5yUUB

15. The line joining the points (2, 1) and
(5, — 8) is trisected at the points P and Q . If
point P lies on the line 2z — y 4+ k = 0. Find

the value of k.

o Watch Video Solution

16. If the point A (2, -4) is equidistant from P (3,
8) and Q (-10, y), find the values of y. Also find

distance PQ.

o Watch Video Solution



https://dl.doubtnut.com/l/_YZLNT2k5yUUB
https://dl.doubtnut.com/l/_SgyFW3VphzdH
https://dl.doubtnut.com/l/_rKTanf6nVoZD

17. If A(-2, —1),B(p,0),C(4,q) and
D(1,2) are the vertices of a parallelogram,

find the values of p and q.

o Watch Video Solution

18. Find the coordinates of the point of
bisection of the line segment joining the

points (7, - 2) and (-5, -4).

o Watch Video Solution



https://dl.doubtnut.com/l/_rKTanf6nVoZD
https://dl.doubtnut.com/l/_uRjJy7L9wl4S
https://dl.doubtnut.com/l/_4CYsmukyT1J3

19. If P (9a-2,-b) divides line segment joining A
(3a+1,-3) and B(8a,5) in the ratio 3: 1, then find

the values of a and b.

o Watch Video Solution

24
20. In what ratio does the point (ﬁ,y)

divide the line segment joining the points P(2,

-2) and Q(3, 1) Also find the value of y.

° Watch Video Solution



https://dl.doubtnut.com/l/_4CYsmukyT1J3
https://dl.doubtnut.com/l/_816mDGiMDHlr
https://dl.doubtnut.com/l/_cXH49H2QrdDC

21. Find the ratio in which the line
2z + 3y — 5 = 0 divides the line segment
joining the points (8,-9) and (2,1). Also find the

coordinates of the points of division.

o Watch Video Solution

22. Find the coordinates of a point on the x-
axis which is equidistant from the points A(2, -

5) and B(- 2, 9).

o Watch Video Solution



https://dl.doubtnut.com/l/_qZzZQhGq1Tps
https://dl.doubtnut.com/l/_ncgLk4UMvMVv

23. If the point P(x, y) is equidistant from the
points A(a + b, b - a) and B(a - b, a + b). Prove

that bx = ay.

o Watch Video Solution

24. Write the coordinates of a point P on x-axis
which is equidistant from the points A(-2, 0)

and B(6, 0).

o Watch Video Solution



https://dl.doubtnut.com/l/_ncgLk4UMvMVv
https://dl.doubtnut.com/l/_oyLb2wyv3hmD
https://dl.doubtnut.com/l/_y27tgygdtVAe

25. If the coordinates of points A and B are (-2,

-2) and (2, -4) respectively, find the coordinates
3

of the point P such that AP = 7AB, where P

lies on the line segment AB.

° Watch Video Solution

26. The point R divides the line segment AB,
where A (- 4, 0) and B (0, 6) such that

3 . .
R = ZAB. Find the coordinates of R

I ° Watch Video Solution


https://dl.doubtnut.com/l/_y27tgygdtVAe
https://dl.doubtnut.com/l/_lYu2S1LfNBTn
https://dl.doubtnut.com/l/_BmTQDJWRLlBo

27. Find the ratio in which the line segment
joining the points (1, -3) and (4 , 5) is divided
by x- axis . Also find the co-ordinates of this

point on x-axiws.

o Watch Video Solution

28. Find the ratio in which P(4, m) divides the
line segment joining the points A(2, 3) and B(6,

3). Hence find m.



https://dl.doubtnut.com/l/_BmTQDJWRLlBo
https://dl.doubtnut.com/l/_33yF2jcrjIPC
https://dl.doubtnut.com/l/_fLI960tLEPsz

I o Watch Video Solution

29. Prove that the points (3, 0), (6, 4) and (-1, 3)
are the vertices of a right angled isosceles

triangle.

o Watch Video Solution

30. The line joining the points (2, 1) and
(5, — 8) is trisected at the points P and Q . If
point P lies on the line 2x —y+ k = 0. Find

the value of k.


https://dl.doubtnut.com/l/_fLI960tLEPsz
https://dl.doubtnut.com/l/_OFTIkZRpfx9l
https://dl.doubtnut.com/l/_OpngTWryQDJx

° Watch Video Solution

Long Answer La Type Questions 4 Marks

1. In the given figure, AABC' is an equilateral

triangle of side 3 units. Find the coordinates


https://dl.doubtnut.com/l/_OpngTWryQDJx
https://dl.doubtnut.com/l/_TwN78c0heQGB

of the other two vertices.

- —+ X
X Ol A(2 0) B

o Watch Video Solution

2. Show that AABC, where

A( —2,0), B(2,0),C(0,2) and APQR


https://dl.doubtnut.com/l/_TwN78c0heQGB
https://dl.doubtnut.com/l/_XTKMVJKUqnkP

where P( —4,0),Q(4,0) and R(0,4) are

similar triangles.

° Watch Video Solution

3.If the point C (-1, 2) divides internally the line
segment joining the points A(2, 5) and B (x,y)

in the ratio of 3:4, find the value of 2% + ¢* .

° Watch Video Solution



https://dl.doubtnut.com/l/_XTKMVJKUqnkP
https://dl.doubtnut.com/l/_68axTfgD4cjb

4. If (-4,3) and (4,3) are two vertices of an
equilateral triangle , then find the coordinates
of the third vertex, given that the origin lies in

the interior of the triangle.

o Watch Video Solution

5. The points A
(1, 1), B(x2, y2) and C(x3,y3) are the
vertices of /\ ABC.

(i) The median from A Meets Bc at D. Find the


https://dl.doubtnut.com/l/_GL3xTYMBtjBH
https://dl.doubtnut.com/l/_rBLbOKNyg0pR

coordinates of the points D.

(i) Find the coordinates of the point P on Ad
such that AP: PD = 2:1.

(iii) Find the coordinates of points Q and R on
medians BE and CF, respectively such that
BQ:QFE =2:1 and CR: RF = 2:1.

What are the coordinates of the centroid of

the /A ABC?

° Watch Video Solution



https://dl.doubtnut.com/l/_rBLbOKNyg0pR

6. Students of a school are standing in rows
and columns in their playground for a drill
practice . A, B, C and D are the positions of
four students as shown in figure . Is it possible
to place Jaspal inn the drill in such a way that
he is equidistant from each of the four

students A, B C and D ? If so, what should be


https://dl.doubtnut.com/l/_P7L42kOSF9xc

his position ?

(@)

Rows
- N W b OO N O O
—-

D

4

123456 7 8 910

Columns % Teacher

o Watch Video Solution



https://dl.doubtnut.com/l/_P7L42kOSF9xc

7. Ayush starts walking from his house to office
. Instead of going to the office directly , he
goes to bank first , from there to his daughter
's school and then reaches the office. What is
the extra distance travelled by Ayush in
reaching his office ? (Assume that all distance
covered are in straight lines ). If the house is
situated at (2,4) bank at (5,8), school at (13,14)

and office at (13,26) and coordinates are in km.

° Watch Video Solution



https://dl.doubtnut.com/l/_BOjTGAPWLV7K

